ECE 342: Electronic Circuits Summer 2024
Problem Set #1 Professor Schutt-Aine
Due Date: Spm, Tue, Jun 18

1. Given the circuit below:
a. Find the effective resistance (Thevenin resistance), seen by the capacitor terminals, R;.

b. Determine the Thevenin voltage seen between node 1 and ground, Vrpq 6.

c. Determine the Thevenin voltage seen between node 2 and ground, Vrp; o.
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2. Assume that @ = 0.99 in the circuit shown below:

a. Calculate the voltage gain, A = %
in

b. Calculate the input resistance seen between the input node and ground, R;;,.

c. Calculate the output resistance seen between the output node and ground, R,,;;.
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